)
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EXERCISE 13C(P) PRELIMINARY EXERCISES

VOLUMES OF SOLIDS OF REVOLUTION

Find the volume of the solid of revolution formed by rotating the arc of the

parabola y = x* between x=0 and x=3 about the X-axis.

Find the volume of the solid formed by rotating the line y=
and x =4 about the X-axis.

2x between x=0

A cone is formed by rotating about the X-axis the segment of the line joining

the points (1,0) and (3,4). Find the volume of the cone.

The semicircle y =v9—x? is rotated about the X-axis. Calculate the volume

of the sphere generated.

The region bounded by thé parabola y = (x '-—32')2 and the coordinate axes is
rotated about the X-axis. Find the volume of the solid formed.
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